relatives CIELAB (a*, , b*)-Diagramm

olv3Mpy =0.8 1.0 0.0
olv3Spy =0.84 1.0 0.2
olv3Fpy =0.84 1.0 0.2
tchFpy =0.6 0.8 0.304
Angley =102.8 109.5 0.2

olv3Mp_ =0.0 1.0 0.2
olv3Sp_. =0.2 1.0 0.36
olv3Fp,_ =0.2 1.0 0.36
tchFp, =0.6 0.8 0.411
Angle, =136.0 148.1 0.
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b* = lab*b
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olv3Mpo = 1.0 0.2 0.0
olv3Spp = 1.0 0.36 0.2
olv3Fpp = 1.0 0.36 0.2
tchFpo = 0.6 0.8 0.146
Angleg =40.0 52.6 0.2

a* = lab*a

olv3Mpc =0.0 0.8 1.0
olv3Spe = 0.2 0.84 1.0

olv3Fpc = 0.2 0.84 1.0 o

tchFpc = 0.6 0.8 0.607
Anglec =196.4 218.4 0.2
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@ lov3Mpy =1.0 0.0 0.8
olv3Spy =1.0 0.2 0.84
olv3Fpy = 1.0 0.2 0.84
tchFpy = 0.6 0.8 0.952
Angley =328.2 342.6 0.2

olv3Mpy =0.2 0.0 1.0
olv3Spy =0.36 0.2 1.0
olv3Fpy =0.36 0.2 1.0
tchFpy =0.6 0.8 0.863
Angley =306.3 310.7 0.2

XE971-3, Relative CIELAB-Daten von sechs dard-Fe
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